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                                                     Abstract 

 

In this research paper we have obtained some interesting mathematical connections 
between the Mock Theta functions of the Ramanujan’s last letter and some sectors of 
Particle Physics, Cosmology and some expressions concerning the Monster Group, 
the Black Hole entropies and the hypothetical mass of Dark Matter particles 
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From the Ramanujan’s last letter: 

“I am extremely sorry for not writing you a single letter up to now . . . I discovered 
very interesting functions recently which I call “Mock” ϑ-functions. Unlike the 
“False” ϑ-functions (studied partially by Prof. Rogers in his interesting paper) they 
enter into mathematics as beautifully as the ordinary ϑ-function. I am sending you 
with this letter some examples . . . 
If we consider a ϑ-function in the transformed Eulerian form e.g...”. 

 

Analysis of the various mock theta functions and new mathematical connections 
with some sectors of physics 

 

 

For the equation (C) (PAGE 1), we have that: 
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(((sqrt(0.12/(2sqrt(5)))  exp[(Pi^2/(5*0.12))  + 
0.12*1/(8sqrt(5))+0.0144*1/(8sqrt(5))+0.001728*1/(8sqrt(5))))))]  *  
(0.257602862254+0.0144) *10^5 
 
Input interpretation: 
 

 
 
 
Result: 
 

 
 
Series representations: 
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Where 1/(8√5) = 0,0559;  0.0559 * 0.12 = 0,006708;  0.001728 / 0.006708 = 0,257602862254; 
0.257602862254 + 0.0144   
 

and: 

(1+(e^-0.12)/(1-e^-0.12)^2+(e^-0.12)^3/((1-e^-0.12)^2(1-e^-0.12^2)^2)+(e^-
0.12)^6/((1-e^-0.12)^2(1-e^-0.12^2)^2(1-e^-0.12^3)^2)) 

Input: 

 
 
 
Result: 
 

 
 

Alternative representation: 
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Series representations: 
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Note that: 

27+1.08346Pi * (6.24778 × 10^10)^1/4 
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Input interpretation: 

 
Open code 

 
 
Result: 

 More digits 

 
 
This result is very near to the mass of f0(1710) candidate glueball 
 
Continued fraction: 

 Linear form 

 
Possible closed forms: 

 More 

 
Enlarge Data Customize A Plaintext Interactive  

 

 
 

1/72 * [27+1.08346Pi * (6.24778 × 10^10)^1/4] 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 
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This result 24,01033 is practically equal to 24, are the physical degrees of freedom of 
the bosonic string, that are the 24 transverse coordinates. 
 
Continued fraction: 

 Linear form 

 
Possible closed forms: 

 More 

 
Enlarge Data Customize A Plaintext Interactive  

 

 
 

1/(sqrt(5)) * [27+1.08346Pi * (6.24778 × 10^10)^1/4] 

Input interpretation: 

 
Open code 

 
 
Result: 

 More digits 

 
 
This value 773,118 is very near to the rest mass of Charged rho meson  
 
Continued fraction: 

 Linear form 
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1/(137*3) * [27+1.08346Pi * (6.24778 × 10^10)^1/4] 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
This result 4,20618 is in the range of the mass of hypothetical dark matter particles 
 
Continued fraction: 

 Linear form 
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2Pi  * (0.663723)^2  [(6.24778 × 10^10)^1/4] 

Input interpretation: 

 
Open code 

 
 
Result: 

 More digits 

 
 
This result 1383,84 is practically equal to the rest mass of Sigma baryon 
 

 
Continued fraction: 

 Linear form 
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1/2 (ln 6.24778 × 10^10) 

Input interpretation: 

 
 

 
Result: 
 

 
 
This result 12,42904 is very near to the value of black hole entropy (see Tables) 
 
Possible closed forms: 
 

 
  

 

 
 

Continued fraction: 

 Linear form 
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And 

1/6 ln 6.24778 × 10^10 

Input interpretation: 

 
 

 
Result: 
 

 
 
This result 4,143013 is in the range of the mass of hypothetical dark matter particles 
 

 
Continued fraction: 

 Linear form 

 
 

Note that from the previously expression, if we replaced  
గమ

ହ
 with  

గమ

଺
 and 27 with 42, 

we obtain: 

(((sqrt(0.12/(2sqrt(5)))  exp[(Pi^2/(6*0.12))  + 
0.12*1/(8sqrt(5))+0.0144*1/(8sqrt(5))+0.001728*1/(8sqrt(5))))))]  *  42*10^4 

Input interpretation: 
 

 
 
 
Result: 
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  (((sqrt(0.12/(2sqrt(5)))  exp[(Pi^2/(6*0.12))  + 
0.12*1/(8sqrt(5))+0.0144*1/(8sqrt(5))+0.001728*1/(8sqrt(5))))))]  *  42*10^4 )   /  
(37840240076.773331293157064141904) 
 
we can to obtain 

 
గమ

଺
= 𝜁(2) =  

Input interpretation: 
 

 
 
 
Result: 
 

 
 
Result: 
 

 More digits 

 
 
 

Or: 
 
(((sqrt(0.12/(2sqrt(5)))  exp[(Pi^2/(6*0.12))  + 
0.12*1/(8sqrt(5))+0.0144*1/(8sqrt(5))+0.001728*1/(8sqrt(5))))))]  *  42*10^4 )   /  
(196884 - 1728.32026394733275450092328764-576-54)^2 
 
Input interpretation: 
 

 
 
 
Result: 
 

 
 
Possible closed forms: 
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Considering t = 0.14,  exp2  and 
గమ

ହ
 , we obtain: 

Input interpretation: 
 

 
 
Result: 
 

 More digits 

 
 
Series representations: 
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Note that: 

(8.90189 × 10^9)^1/9 

Input interpretation: 
 

 
 

 
Result: 
 

 
 

This result 12,74964 is very near to the value of black hole entropy (see Tables) 
 

(13*5)  (8.90189 × 10^9)^1/7 

Input interpretation: 
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Result: 
 

 
 

This result 1715,015 is very near to the mass of f0(1710) candidate glueball 
 

(53) (8.90189 × 10^9)^1/7 

Input interpretation: 
 

 
 
 
Result: 
 

 
 
This result 1398,397 is a good approximation to the rest mass of Sigma baryon 
 
(29) (8.90189 × 10^9)^1/7 

Input interpretation: 
 

 
 

 
Result: 
 

 
 

This value 765,1606 is very near to the rest mass of Charged rho meson  
 

(8901886223,482)1/16 = 4,18641837028 

(8901886223,482)1/46 = 1,645481817826   value very near to the  
గమ

଺
= 𝜁(2) =

 

 

Obviously, all the results can be represented with infinite continued fractions 

 

And 
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Input: 

 
 
 
Result: 
 

 
 
Alternative representation: 

 
 

Series representations: 
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Now, we have, from (A) and (B) (PAGE 1): 
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sqrt((0.12)/(2Pi)) * exp(Pi^2/0.72-0.12/24) 

Input: 

 
Open code 

 
 
Result: 

 More digits 

 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Continued fraction: 

 Linear form 
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exp(Pi^2/(15*0.72)-0.12/60) /(sqrt((5-sqrt(5))/2) 

Input: 

 
Open code 

 
 
Result: 

 Fewer digits 

 More digits 

 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Continued fraction: 

 Linear form 

 
 

Now: 

ln(((((((((((((sqrt((0.12)/(2Pi)) * exp(Pi^2/0.72-0.12/24) *  exp(Pi^2/(15*0.72)-
0.12/60) /(sqrt((5-sqrt(5))/2)))))))))))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
This result 12,4738 is very near to the value of black hole entropy (see Tables) 
 
 
 
Alternative representations: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Series representation: 

 
 

Integral representations: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
 

Continued fraction: 

 Linear form 

 
 

1/3 ln(((sqrt((0.12)/(2Pi)) * exp(Pi^2/0.72-0.12/24) *  exp(Pi^2/(15*0.72)-0.12/60) 
/(sqrt((5-sqrt(5))/2))) 
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Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
This result 4,1579 is in the range of the mass of hypothetical dark matter particles 
 
Alternative representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Series representation: 
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Open code 
Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
 

Continued fraction: 

 Linear form 
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138 ln(((sqrt((0.12)/(2Pi)) * exp(Pi^2/0.72-0.12/24) *  exp(Pi^2/(15*0.72)-0.12/60) 
/(sqrt((5-sqrt(5))/2))) 

Input: 

 
Open code 

 
 

  
Result: 

 Fewer digits 

 More digits 

 
 
This result 1721,386 is very near to the mass of f0(1710) candidate glueball 
 
 
Alternative representations: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Series representation: 

 
 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Continued fraction: 

 Linear form 

 
Open code 

 

 

62 ln(((sqrt((0.12)/(2Pi)) * exp(Pi^2/0.72-0.12/24) *  exp(Pi^2/(15*0.72)-0.12/60) 
/(sqrt((5-sqrt(5))/2))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 
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 More digits 

 
 

This value 773,376 is very near to the rest mass of Charged rho meson  
 

Alternative representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 

Series representation: 

 
Open code 
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Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 

((((((ln(((sqrt((0.12)/(2Pi)) * exp(Pi^2/0.72-0.12/24) *  exp(Pi^2/(15*0.72)-0.12/60) 
/(sqrt((5-sqrt(5))/2))))))^1/5 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

1/72 *  (((sqrt((0.12)/(2Pi)) * exp(Pi^2/0.72-0.12/24) + exp(Pi^2/(15*0.72)-0.12/60) 
/(sqrt((5-sqrt(5))/2))) 
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Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result 1714,82 is very near to the mass of f0(1710) candidate glueball 
 
 
Continued fraction: 

 Linear form 

 
Open code 
Series representations: 

 More 
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Enlarge Data Customize A Plaintext Interactive  
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1/(1714.82209*3)   *  (((sqrt((0.12)/(2Pi)) * exp(Pi^2/0.72-0.12/24) + 
exp(Pi^2/(15*0.72)-0.12/60) /(sqrt((5-sqrt(5))/2))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
This result is practically equal to 24, are the physical degrees of freedom of the 
bosonic string, that are the 24 transverse coordinates. 
 
 
Continued fraction: 

 Linear form 
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Open code 

 
 

Series representations: 

 More 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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1/34   (((sqrt((0.12)/(2Pi)) * exp(Pi^2/0.72-0.12/24)))  /  ((exp(Pi^2/(15*0.72)-
0.12/60) /(sqrt((5-sqrt(5))/2))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Result: 

 Fewer digits 

 More digits 

 
 
This result 1715,1475 is very near to the mass of f0(1710) candidate glueball 
 
 

Continued fraction: 

 Linear form 

 

 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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1/75   (((sqrt((0.12)/(2Pi)) * exp(Pi^2/0.72-0.12/24)))  /  ((exp(Pi^2/(15*0.72)-
0.12/60) /(sqrt((5-sqrt(5))/2))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
This value 777,533 is very near to the rest mass of Charged rho meson  
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Continued fraction: 

 Linear form 

 
 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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1/(2.61803398)   ln (((sqrt((0.12)/(2Pi)) * exp(Pi^2/0.72-0.12/24)))  /  
((exp(Pi^2/(15*0.72)-0.12/60) /(sqrt((5-sqrt(5))/2))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 
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This result 4,19154 is in the range of the mass of hypothetical dark matter particles 
 
 
Continued fraction: 

 Linear form 

 
Open code 

 
 

Alternative representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 

Series representation: 
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Open code 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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  

1/6.626   ln (((sqrt((0.12)/(2Pi)) * exp(Pi^2/0.72-0.12/24)))  /  ((exp(Pi^2/(15*0.72)-
0.12/60) /(sqrt((5-sqrt(5))/2))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
Continued fraction: 

 Linear form 

 
Open code 

 
 

Alternative representations: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 

Series representation: 

 
Open code 

 

Integral representations: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 

We have that: 
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From: 

 

We obtain, for q = -e-t  for t = 0.5;  q = -0,606530 

1+[((-0.606530)/(1-0.606530)^2))]+(((-0.606530)^4)))/[(((1-0.606530)^2))*((1-
0.606530^2)^2)))] 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

and: 

 

sqrt(Pi/0.5) exp((Pi^2/(24*0.5))-(0.5/24)) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

Thence: 

-0.7299948 + sqrt(Pi/0.5) exp((Pi^2/(24*0.5))-(0.5/24)) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Series representations: 

 More 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

For t = 0.6, we obtain: 

1+[((-0.548811)/(1-0.548811)^2))]+(((-0.548811)^4)))/[(((1-0.548811)^2))*((1-
0.548811^2)^2)))] 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

  

-0.7833547826264773 + sqrt(Pi/0.6) exp((Pi^2/(24*0.6))-(0.6/24)) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

For t = 0,57721566... (Euler-Mascheroni Constant) we obtain: 

-0.81745701519423421359+sqrt(Pi/0.57721566490153286) 
exp((Pi^2/(24*0.57721566490153286))-(0.57721566490153286/24)) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Continued fraction: 

 Linear form 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 

 

+ + / 3 = 

= Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

This result 4,1098 is the mean between 0,5 - 0,57721566... -  0,6 and can be 
considered the best range so that: 

  

Furthermore, this result 4,1098 is also in the range of the mass of hypothetical dark 
matter particles 
 

From the first fundamental expression of PAGE 4, i.e. 
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we have, for n = 64, if we replaced  
గ

଺
  with  

గమ

଺
 , a similar result. Indeed: 

[-(exp(Pi*sqrt(64/6-1/144)) / (2sqrt(64-1/24)) +  (exp(Pi/2*sqrt(Pi/6-1/144)) / 
(sqrt(64-1/24))] 

Input: 

 
Open code 

 
 
Exact result: 

 
Decimal approximation: 

 More digits 

 
 
This result -1781,1458 is in the range of the mass of f0(1710) candidate glueball, with 
minus sign 
 
 

Alternate forms: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Continued fraction: 

 Linear form 
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Series representations: 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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[-(exp(Pi*sqrt(64/6-1/144)) / (2sqrt(64-1/24)) +  (exp(Pi/2*sqrt(Pi^2/6-1/144)) / 
(sqrt(64-1/24))] 

Input: 

 
Open code 

 
 
Exact result: 

 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
Alternate forms: 
 

This result -1781,692 is in the range of the mass of f0(1710) candidate glueball, with 
minus sign 
 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Continued fraction: 

 Linear form 

 
Series representations: 
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Enlarge Data Customize A Plaintext Interactive  
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Thence, results practically equals:  -1781.1458  and  -1781.6926  with the important 

difference that 
గమ

଺
 is equal to 

Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
And represent   

Alternative representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

We note that: 

54 +  [-(exp(Pi*sqrt(64/6-1/144)) / (2sqrt(64-1/24)) +  (exp(Pi/2*sqrt(Pi^2/6-1/144)) / 
(sqrt(64-1/24))] 

Input: 
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Open code 

 
 
Exact result: 

 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
 
This result -1727,692 is very near to the mass of f0(1710) candidate glueball, with 
minus sign 
 
 
Alternate forms: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Continued fraction: 

 Linear form 

 
Series representations: 
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Enlarge Data Customize A Plaintext Interactive  
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1/sqrt(2e)  * [-(exp(Pi*sqrt(64/6-1/144)) / (2sqrt(64-1/24)) +  (exp(Pi/2*sqrt(Pi^2/6-
1/144)) / (sqrt(64-1/24))] 

Input: 

 
Open code 

 
 
Exact result: 

 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
 
This value -764,1358 is very near to the rest mass of Charged rho meson, with minus 
sign  
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Open code 
Alternate forms: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 

 
 

Continued fraction: 

 Linear form 

 
 

 

Now: 

[-(exp(Pi*sqrt(2/6-1/144)) / (2sqrt(2-1/24)) +  (exp(Pi/2*sqrt(Pi/6-1/144)) / (sqrt(2-
1/24))] 

Input: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Alternate forms: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Continued fraction: 

 Linear form 

 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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[-(exp(Pi*sqrt(8/6-1/144)) / (2sqrt(8-1/24)) +  (exp(Pi/2*sqrt(Pi/6-1/144)) / (sqrt(8-
1/24))] 

Input: 

 
Open code 

 
 
Exact result: 

 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 
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Alternate forms: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Continued fraction: 

 Linear form 

 
Series representations: 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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[-(exp(Pi*sqrt(16/6-1/144)) / (2sqrt(16-1/24)) +  (exp(Pi/2*sqrt(Pi/6-1/144)) / 
(sqrt(16-1/24))] 

Input: 
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Open code 

 
 
Exact result: 

 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
 
This result -21,79216 is very near to the value of black hole entropy (see Tables), 
with minus sign 
 
 
Alternate forms: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Continued fraction: 

 Linear form 

 
Series representations: 
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Enlarge Data Customize A Plaintext Interactive  
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[-(exp(Pi*sqrt(24/6-1/144)) / (2sqrt(24-1/24)) +  (exp(Pi/2*sqrt(Pi/6-1/144)) / 
(sqrt(24-1/24))] 

Input: 

 
Open code 

 
 
Exact result: 

 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
Alternate forms: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Continued fraction: 

 Linear form 

 
Series representations: 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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[-(exp(Pi*sqrt(48/6-1/144)) / (2sqrt(48-1/24)) +  (exp(Pi/2*sqrt(Pi/6-1/144)) / 
(sqrt(48-1/24))] 

Exact result: 
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Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
 
A good approximation to the rest mass of Eta meson 
 
Alternate forms: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Continued fraction: 

 Linear form 

 
Series representations: 
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Enlarge Data Customize A Plaintext Interactive  
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[-(exp(Pi*sqrt(54/6-1/144)) / (2sqrt(54-1/24)) +  (exp(Pi/2*sqrt(Pi/6-1/144)) / 
(sqrt(54-1/24))] 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Alternate forms: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
 

We note that: 

Pi   [-(exp(Pi*sqrt(54/6-1/144)) / (2sqrt(54-1/24)) +  (exp(Pi/2*sqrt(Pi^2/6-1/144)) / 
(sqrt(54-1/24))] Pi   [-(exp(Pi*sqrt(54/6-1/144)) / (2sqrt(54-1/24)) +  
(exp(Pi/2*sqrt(Pi^2/6-1/144)) / (sqrt(54-1/24))] 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 



74 
 

 
Decimal approximation: 

 More digits 

 
 
This result is very near to the rest mass of charmed Xi baryon 
 
Alternate forms: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Continued fraction: 

 Linear form 

 
 

and that the result -2643,4137... is practically equal to the rest mass of charmed Xi 
baryon 2645.9±0.5 with minus sign. 

[-(exp(Pi*sqrt(256/6-1/144)) / (2sqrt(256-1/24)) +  (exp(Pi/2*sqrt(Pi/6-1/144)) / 
(sqrt(256-1/24))] 

Input: 

 
Open code 

 
 
Exact result: 
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Decimal approximation: 

 More digits 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Alternate forms: 

 
Open code 

 
 

 
 

Continued fraction: 

 Linear form 

 
 

((-[-(exp(Pi*sqrt(256/6-1/144)) / (2sqrt(256-1/24)) +  (exp(Pi/2*sqrt(Pi/6-1/144)) / 
(sqrt(256-1/24))]))^1/3  * 2Pi 

Input: 

 
Open code 

 
 

 Units »  
Exact result: 
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 Units »  

Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
Open code 
 
Alternate form: 

 
 

Continued fraction: 

 Linear form 

 
 

The result 1848.94 is a good approximation to the rest mass of D meson 
1864.84±0.17 

[-(exp(Pi*sqrt(496/6-1/144)) / (2sqrt(496-1/24)) +  (exp(Pi/2*sqrt(Pi^2/6-1/144)) / 
(sqrt(496-1/24))] 

Input: 

 
Open code 

 
 
Exact result: 
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Decimal approximation: 

 More digits 

 
Open code 

 
 
Alternate forms: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
 

(((27-[-(exp(Pi*sqrt(496/6-1/144)) / (2sqrt(496-1/24)) +  (exp(Pi/2*sqrt(Pi^2/6-
1/144)) / (sqrt(496-1/24))])))^1/4  * 2Pi 

Input: 

 
Open code 

 
 
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Alternate forms: 

 
Open code 
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Continued fraction: 

 Linear form 

 
 

The result 3096,94 is practically equal to the rest mass of the J/Psi meson 
3096.916±0.011 

[-(exp(Pi*sqrt(1024/6-1/144)) / (2sqrt(1024-1/24)) +  (exp(Pi/2*sqrt(Pi/6-1/144)) / 
(sqrt(1024-1/24))] 

Input: 

 
Open code 

 
 
Exact result: 

 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
Open code 

 
 
Alternate forms: 
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Open code 

 
 

 
 

Continued fraction: 

 Linear form 

 
 

(((-[-(exp(Pi*sqrt(1024/6-1/144)) / (2sqrt(1024-1/24)) +  (exp(Pi/2*sqrt(Pi/6-1/144)) / 
(sqrt(1024-1/24))])))^1/6  * 2Pi 

Input: 

 
Open code 

 
 
Exact result: 

 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
Open code 

 
 
Alternate form: 
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Continued fraction: 

 Linear form 

 
 

The result 2936,1658 is a good approximation to the rest mass of the Charmed eta 
meson 2980.3±1.2 

In conclusion, we have: 

[-(exp(Pi*sqrt(4096/6-1/144)) / (2sqrt(4096-1/24)) +  (exp(Pi/2*sqrt(Pi^2/6-1/144)) / 
(sqrt(4096-1/24))] 

Input: 

 
Open code 

 
 
Exact result: 

 
Decimal approximation: 

 More digits 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Alternate forms: 

 
Open code 

 
 

 
 

Continued fraction: 

 Linear form 

 
 

2Pi * ln(((-[-(exp(Pi*sqrt(4096/6-1/144)) / (2sqrt(4096-1/24)) +  
(exp(Pi/2*sqrt(Pi^2/6-1/144)) / (sqrt(4096-1/24))]))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
 

Alternate forms: 

 More 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Continued fraction: 

 Linear form 

 
Alternative representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
 

The result 485,25 is very near to the value of the rest mass of the Kaon meson 
493.677±0.016 
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Furthermore, we have that: 

 

And from: 

 

Chapter 16 
String thermodynamics and black holes 
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Note that, from the Table 16.2, and utilizing the Ramanujan equation, we obtain: 

0.57516    ((((((-[-(exp(Pi*sqrt(10000/6-1/144)) / (2sqrt(10000-1/24)) +  
(exp(Pi/2*sqrt(Pi^2/6-1/144)) / (sqrt(10000-1/24))])))))))^2 

Input: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Series representations: 

 
 
 
Enlarge Data Customize A Plaintext Interactive  



90 
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Result practically equal to the value as in the Table, i.e. for N = 10000  p(N) = 3,617 
* 10106. Also for N = 5, N = 10, N = 100 and N = 1000, we obtain similar results. 

0.1329    ((((((-[-(exp(Pi*sqrt(5/6-1/144)) / (2sqrt(5-1/24)) +  (exp(Pi/2*sqrt(Pi^2/6-
1/144)) / (sqrt(5-1/24))])))))))^2 

Input: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
Series representations: 

 
 
 
Enlarge Data Customize A Plaintext Interactive  



93 
 

 
 



94 
 

 

 

0.321158    ((((((-[-(exp(Pi*sqrt(10/6-1/144)) / (2sqrt(10-1/24)) +  
(exp(Pi/2*sqrt(Pi^2/6-1/144)) / (sqrt(10-1/24))])))))))^2 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

0.554792    ((((((-[-(exp(Pi*sqrt(100/6-1/144)) / (2sqrt(100-1/24)) +  
(exp(Pi/2*sqrt(Pi^2/6-1/144)) / (sqrt(100-1/24))])))))))^2 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

0.57032    ((((((-[-(exp(Pi*sqrt(1000/6-1/144)) / (2sqrt(1000-1/24)) +  
(exp(Pi/2*sqrt(Pi^2/6-1/144)) / (sqrt(1000-1/24))])))))))^2 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
 

Now, we take the expression  

[-(exp(Pi*sqrt(16/6-1/144)) / (2sqrt(16-1/24)) +  (exp(Pi/2*sqrt(Pi/6-1/144)) / 
(sqrt(16-1/24))] 

Input: 
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Open code 

 
 
Exact result: 

 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
 

The result is about -21,79216. This is the coefficient of qn in the next mathematical 
expressions.  

 

 

We have that: 

 

 

Now, we take n = 16 and obtain, considering the following develop of the above 
formula: 

                             

 the value -21.79216 (the coefficient).  
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Thence q = coefficient * -e-t ;   for t = 0.5,  q = (-e-0.5) -21.79216   for each q. 

For example:  q5 = ((-e-0.5)* -21.79216)5 and so on. 

Now: 

 

 

 

 

We have that, for t = 2: 
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((((1- 2((-e^-2 *(-21.79216)))+2((-e^-2 *(-21.79216))^4-2((-e^-2 *(-21.79216))^9)))) 
/ ((((1+((-e^-2 *(-21.79216))))(((1+((-e^-2 *(-21.79216))^2))))((((1+((-e^-2 *(-
21.79216))^3)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

Alternative representation: 

 
Open code 

 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Continued fraction: 

 Linear form 

 
Open code 
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((((1- 2((-e^-2 *(-21.79216))^3))+2((-e^-2 *(-21.79216))^12))))^2 / ((((1-((-e^-2 *(-
21.79216))))(((1-((-e^-2 *(-21.79216))^2))))((((1+((-e^-2 *(-21.79216))^3)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

Alternative representation: 

 
Open code 

 

Series representations: 

 More 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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ln [[[((((1- 2((-e^-2 *(-21.79216))^3))+2((-e^-2 *(-21.79216))^12))))^2 / ((((1-((-e^-2 
*(-21.79216))))(((1-((-e^-2 *(-21.79216))^2))))((((1+((-e^-2 *(-21.79216))^3))))]]] 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 
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This result 21,352 is very near to the value of black hole entropy (see Tables) 
 
 

Alternative representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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ln [[[(((-(1- 2((-e^-2 *(-21.79216)))+2((-e^-2 *(-21.79216))^4-2((-e^-2 *(-
21.79216))^9)))) / ((((1+((-e^-2 *(-21.79216))))(((1+((-e^-2 *(-
21.79216))^2))))((((1+((-e^-2 *(-21.79216))^3))))]]] 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

This result 4,1897 is in the range of the mass of hypothetical dark matter particles 
 

Alternative representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
 
 

 
 

Integral representations: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 

Continued fraction: 

 Linear form 

 
Open code 

 

 

3 ln [[[(((-(1- 2((-e^-2 *(-21.79216)))+2((-e^-2 *(-21.79216))^4-2((-e^-2 *(-
21.79216))^9)))) / ((((1+((-e^-2 *(-21.79216))))(((1+((-e^-2 *(-
21.79216))^2))))((((1+((-e^-2 *(-21.79216))^3))))]]] 

Input interpretation: 
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Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
This result 12,5691 is practically equal to the value of black hole entropy (see Tables) 
 
 
 

Alternative representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
 
 

 
 

Integral representations: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 

Continued fraction: 

 Linear form 

 
Open code 

 

 

 

ln ((-(-66.0051133800458917738884796 * ((((1- 2((-e^-2 *(-21.79216))^3))+2((-e^-2 
*(-21.79216))^12))))^2 / ((((1-((-e^-2 *(-21.79216))))(((1-((-e^-2 *(-
21.79216))^2))))((((1+((-e^-2 *(-21.79216))^3))) 

Input interpretation: 
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Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
This result 25,5418 is very near to the value of black hole entropy (see Tables) 
 

Alternative representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Series representations: 

 More 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 

Continued fraction: 

 Linear form 
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Open code 

 

 

For 𝜙(𝑞)     q = -e-t  , t = 0.5  qn = -21.79216 * -e-0.5 

from the expression on pag. 93, we obtain: 

  

 

φ(q) = 1.075226 + 0.00572374 = 1.08094974 

ψ(q) = -1.08185 + 1.08232 – 1.08232 =  – 1.08185 

χ(q) = 1.081345 + 0.00618954 = 1.08753454 

 

The sum of   φ(q) + ψ(q) + χ(q) = 1.08663428 very near to the value 1.08643 already 
calculated from Ramanujan 
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((((1- 2((-e^-0.5 *(-21.79216))^1)+2((-e^-0.5 *(-21.79216))^4-2((-e^-0.5 *(-
21.79216))^9)))) / ((((1+((-e^-0.5 *(-21.79216))))(((1+((-e^-0.5 *(-
21.79216))^2))))((((1+((-e^-0.5 *(-21.79216))^3)))) 

Input interpretation: 

 
Result: 

 More digits 

 
 
Open code 

 
 
Result: 

 More digits 

 
 
 
3/2  ln-(-4267.244455443856010826564662484282717644843292832231) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result 12,538 is very near to the value of black hole entropy (see Tables) 
 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
 

(72*2-6) * 3/2  ln-(-
4267.244455443856010826564662484282717644843292832231) 

Input interpretation: 
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Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result 1730,2557 is very near to the mass of f0(1710) candidate glueball 
 

Alternative representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Continued fraction: 

 Linear form 

 
Open code 

 

(89+3)  ln-(-4267.244455443856010826564662484282717644843292832231) 

Alternative representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  
Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 

 

 

((((1- 2((-e^-0.5 *(-21.79216))^3))+2((-e^-0.5 *(-21.79216))^12))))^2 / ((((1-((-e^-
0.5 *(-21.79216))))(((1-((-e^-0.5 *(-21.79216))^2))))((((1+((-e^-0.5 *(-
21.79216))^3)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

Alternative representation: 

 
Open code 

 

Series representations: 

 More 
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Enlarge Data Customize A Plaintext Interactive  
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(-4267.244455443856010826564662484282717644843292832231) * ((((1- 2((-e^-
0.5 *(-21.79216))^3))+2((-e^-0.5 *(-21.79216))^12))))^2  / (4.90283*10^6) 
 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

1/(2.61803398)  ln -(-2.8147095673908046130256778529964805112284843919 × 
10^24) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result 21,503 is very near to the value of black hole entropy (see Tables) 
 

1/2 ln (6.59608615877393436513319148 * 10^20) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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This result 23,969 is very near to the value of black hole entropy (see Tables), and 
equal to 24, are the physical degrees of freedom of the bosonic string, that are the 24 
transverse coordinates. 
 
 
 

Alternative representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

  
  

 Integral representations: 

  
 Open code 

  
 

 Enlarge Data Customize A Plaintext Interactive  

  
 Open code 

 

(((sqrt(5)-1)/2)))  ln (6.59608615877393436513319148 * 10^20) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result 29,627 is very near to the value of black hole entropy (see Tables) 
 
 

Alternative representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 

 

 

 

For k = 15 for S = 4ℼ√k = 48,66934411168... 

 

ln (6.59608615877393436513319148 * 10^20) 

Input interpretation: 

 
Open code 
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  
Result: 

 More digits 

 
 

Alternative representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
 

 

 

Now: 

 

((((1- (2(-e^-0.5 *(-21.79216))+((2((-e^-0.5 *(-21.79216))^4))-((2((-e^-0.5 *(-
21.79216))^9))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
(1-((-e^-0.5 *(-21.79216)^1)))  *  (1-((-e^-0.5 *(-21.79216))^4))) *  (1-(-e^-0.5 *(-
21.79216))^6))) *  (1-(-e^-0.5 *(-21.79216))^9))) 
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Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

(-2.4626702325489266770162189447923150997792288511 * 10^10) / ((((((((1-((-
e^-0.5 *(-21.79216)^1)))*(1-((-e^-0.5 *(-21.79216))^4)))*(1-(-e^-0.5 *(-
21.79216))^6)))*(1-(-e^-0.5 *(-21.79216))^9))))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

 

 

Thence: 

 

Pi +  ln -(-1.005834389530381683148320482183214342598410387 × 10^-12) 
Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result -24,483 is very near to the value of black hole entropy (see Tables), with 
minus sign 
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(64+6) * (( Pi +  ln -(-1.005834389530381683148320482183214342598410387 × 
10^-12))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result 1713,852 is very near to the mass of f0(1710) candidate glueball 
 

32 * (( Pi +  ln -(-1.005834389530381683148320482183214342598410387 × 10^-
12))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This value is practically equal to the rest mass of Omega meson with minus sign 

 

1/6.626  ln -(-1.005834389530381683148320482183214342598410387 × 10^-12))) 

Input interpretation: 

 
Open code 

 
  

Result: 

 More digits 

 
 
This result -4,16921 is in the range of the mass of hypothetical dark matter particles 
with minus sign 
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Now: 

 

 

 
 

 

 Fewer digits 

 More digits 

 
 

 ((-e^-0.5 *(-21.79216)) ((((1+ ((-e^-0.5 *(-21.79216))^2))+((-e^-0.5 *(-
21.79216))^6))+((-e^-0.5 *(-21.79216))^12)))) / (-6.53651*10^53) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Result: -5,74968 * 10-40 

Or: 

(3.758283821362441293398732 * 10^14) / (-6.5365083422588498961145 * 10^53) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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(ln-(-5.749681059939831189605844527957593202706898451414516 × 10^-40) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Continued fraction: 

 Linear form 

 
For k = 52 for S = 4ℼ√k = 90,617387193111821540 

Or: 

1/(Pi*(sqrt(5)+1)/2))  (ln-(-5.749681059939831189605844527 × 10^-40) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result -17,775 is very near to the value of black hole entropy (see Tables) with 
minus sign 
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1.674*5  ln -(-5.74968 * 10^-40) 

 
Open code 

 
 

  
Result: 

 More digits 

 
 
This value -756,265 is very near to the rest mass of Charged rho meson with minus 
sign 
 
Alternative representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

 Series representations: 

  
 Open code 

  
 

 Enlarge Data Customize A Plaintext Interactive  

  
 Open code 
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  
 

  
 

Integral representation: 

 
 

(27-8)  ln -(-5.74968 * 10^-40) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
This result -1716,73 is very near to the mass of f0(1710) candidate glueball, with 
minus sign 
 
 

Alternative representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 
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Series representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

Integral representation: 

 
Open code 

 
 

  
Continued fraction: 

 Linear form 

 
Open code 

 

1/21.676  ln -(-5.74968 * 10^-40) 
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Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result -4,16840 is in the range of the mass of hypothetical dark matter particles 
with minus sign 
 

Alternative representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

Series representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Open code 

 

Integral representation: 

 
Open code 

 

 

 

 

Now, from the two results, we have: 

(-5.749681059939831189605844527 * 10^-40) * 1/ (-
1.005834389530381683148320482183214342598410387 × 10^-12) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 
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1/0.347835  * (-5.749681059939831189605844527 * 10^-40) * 1/ (-
1.005834389530381683148320482183214342598410387 × 10^-12) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

Value very near to the mass of Proton 

Where 0,347835...  is a value of special continued fraction 1/√2 -1/√3 +1/√5 -1/√7 
+1/√11 -1/√13 +1/√17 -...  

1/(sqrt(27)) ln (1.6434026953596811376603160042067764288465572502105842 × 
10^-27) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result -11,868 is very near to the value of black hole entropy (see Tables) with 
minus sign 
 
 

Continued fraction: 

 Linear form 
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Open code 

 
 
Enlarge Data Customize A Plaintext  
 

(8+21)*5/(sqrt(27)) ln 
(1.6434026953596811376603160042067764288465572502105842 × 10^-27) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result -1721,002 is very near to the mass of f0(1710) candidate glueball, with 
minus sign 
 

Continued fraction: 

 Linear form 
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Open code 

 

4Pi * ln (1.6434026953596811376603160042067764288465572502105842 × 10^-
27) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This value -775,006 is practically equal to the rest mass of Charged rho meson with 
minus sign  
 
 

Continued fraction: 

 Linear form 
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Now, we have: 

 

 

From the (i), we have: 

0.9239078+0.000433255+(-
1.8754140254243246404383299476354805043847163776 × 10^-7) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

 
 
The result is 
 
 0.92434086745859745756753595616700523645194956152836224 
 
Repeating decimal: 

 
 

Continued fraction: 

 Linear form 
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2Pi * (( exp (0.92434086745859745756753595616700523645194956152836224))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result 15,8349 is very near to the value of black hole entropy (see Tables) 
 

Continued fraction: 

 Linear form 
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2Pi *(27*4) (( exp 
(0.92434086745859745756753595616700523645194956152836224))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result 1710,1718 is very near to the mass of f0(1710) candidate glueball 
 

16Pi + 288 * (( exp 
(0.92434086745859745756753595616700523645194956152836224))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This value 776,084 is practically equal to the rest mass of Charged rho meson  
 

1.6449 (( exp (0.92434086745859745756753595616700523645194956152836224))) 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result 4,14549 is in the range of the mass of hypothetical dark matter particles 
 
 

Continued fraction: 

 Linear form 

 
Open code 

 

(8Pi) *  (((0.92434086745859745756753595616700523645194956152836224))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result 23,2312 is very near to the value of black hole entropy (see Tables) 
 
 

(576Pi) *  (((0.92434086745859745756753595616700523645194956152836224))) 
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Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result 1672,6478 is practically equal to the value of the rest mass of Omega 
baryon 1672.45±0.29 

 

From the (ii), we have: 

-1.081849047367565973116419938674252971482398018961922 + 

0.0761251367814440464022202749466671971676215118725857 

-0.000433255719961759072744149660169833646052283127278 

Input interpretation: 

 
Open code 

 
 
Result: 

 
 
The result is -1.0061571663… 
 
-1.0061571663060836857869438133877556079608287902166143 
 
Open code 
Continued fraction: 

 Linear form 
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4Pi *  10^4 ln -(-1.00615716630608368578694381338775560796082879021661439) 

Input interpretation: 

 
Open code 

 
 

  
Result: 

 More digits 

 
 
This value 771,36 is very near to the rest mass of Charged rho meson  
 
 
 
Enlarge Data Customize A Plaintext  
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
 

9Pi * 10^4 ln -(-1.00615716630608368578694381338775560796082879021661439) 

Input interpretation: 

 
Open code 
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  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result 1735,56 is very near to the mass of f0(1710) candidate glueball 
 
 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representations: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
 

1/144 * 9Pi * 10^4 ln -(-
1.00615716630608368578694381338775560796082879021661439) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result 12,0525 is very near to the value of black hole entropy (see Tables 
 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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1/72 * 9Pi * 10^4 ln -(-
1.00615716630608368578694381338775560796082879021661439) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result 24,105 is very near to the value of black hole entropy (see Tables) and 
equal to 24, the physical degrees of freedom of the bosonic string, that are the 24 
transverse coordinates. 
 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representations: 

 
 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
 

 

1/(142*(((sqrt(5)+1)/2))^2))) * (8Pi) * 10^4 ln -(-
1.00615716630608368578694381338775560796082879021661439) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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This result 4,14976 is in the range of the mass of hypothetical dark matter particles 
 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representations: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
 

From the (iii), we have: 

-0.081849047367565973116419938674252971482398018961922 

0.0004357345630640457140757853070834281049705616972466 

-1.8762261787851325482986508127679968797519452065 × 10^-7 

 

 

The result is: 

-0.08141350042711980591559898323225082017711543245919605 

Continued fraction: 

 Linear form 
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5 ln-(-0.081849047367565973116419938674252971482398018961922+ 
0.0004357345630640457140757853070834281049705616972466 -
1.8762261787851325482986508127679968797519452065 × 10^-7) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result -12,541 is very near to the value of black hole entropy (see Tables) with 
minus sign 
 
 

137 *5 ln-(-0.081849047367565973116419938674252971482398018961922+ 
0.0004357345630640457140757853070834281049705616972466 -
1.8762261787851325482986508127679968797519452065 × 10^-7) 

Input interpretation: 

 
Open code 
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  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result -1718,126 is very near to the mass of f0(1710) candidate glueball with 
minus sign 
 

(54+8) *5 ln-(-0.081849047367565973116419938674252971482398018961922+ 
0.0004357345630640457140757853070834281049705616972466 -
1.8762261787851325482986508127679968797519452065 × 10^-7) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This value -777,546 is very near to the rest mass of Charged rho meson with minus 
sign 
 
 

((sqrt(5))+1))/2) - ln-(-
0.081849047367565973116419938674252971482398018961922+ 
0.0004357345630640457140757853070834281049705616972466 -
1.8762261787851325482986508127679968797519452065 × 10^-7) 

Input interpretation: 

 
Open code 

 
 

  
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Result: 

 More digits 

 
 
This result 4,12624 is in the range of the mass of hypothetical dark matter particles 
 
 
Enlarge Data Customize A Plai 
 

1/(-0.081849047367565973116419938674252971482398018961922+ 
0.0004357345630640457140757853070834281049705616972466 -
1.8762261787851325482986508127679968797519452065 × 10^-7) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

This result -12,2829 is very near to the value of black hole entropy (see Tables) with 
minus sign 
 

((-(1/(-0.081849047367565973116419938674252971482398018961922+ 
0.0004357345630640457140757853070834281049705616972466 -
1.8762261787851325482986508127679968797519452065 × 10^-7)))^1/5 

Input interpretation: 

 
Open code 

 
 
Result: 

 More digits 

 
Enlarge Data Customize A Plaintext  
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We take all the three results (i), (ii) and (iii) and mutiply: 

Input interpretation: 

 
Open code 

 
 
Result: 

 More digits 

 
Open code 

 
 
Repeating decimal: 

 More digits 

 
 

Now: 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

This result 23,4088 is very near to the value of black hole entropy (see Tables) 
 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

This result -12,4847 is very near to the value of black hole entropy (see Tables) with 
minus sign 
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Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

This result 31,2118 is very near to the value of black hole entropy (see Tables) 
 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

This result 17,5566 is very near to the value of black hole entropy (see Tables) 
 

From the sum of all results that we have obtained, we have: 

Pi/6 ln (( -4267.24+(6.5960861587*10^20)-(1.0058343895*10^-12)-(5.74968*10^-
40)-0.163229799274606034135006840453001191685994661147448110)) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result 25,10 is very near to the value of black hole entropy (see Tables) 
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Multiplying all results obtained, we have: 

1/((5+sqrt(5))/2)))  ln -(( -4267.24*(6.5960861587*10^20)*(1.0058343895*10^-
12)*(5.74968*10^-
40)*0.163229799274606034135006840453001191685994661147448110)) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result -17,5496 is very near to the value of black hole entropy (see Tables) with 
minus sign 
 

We have (pag.4 paper): 

 

f(q) = (13.2879+2134.55-(4.93121*10^6)) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
 
The result is -4.9290621621 * 106 
 
Input interpretation: 
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Open code 

  
Result: 

 Fewer digits 

 More digits 

 
 

This result 15,41 is very near to the value of black hole entropy (see Tables) 
 

φ(q) = (4.33962*10^5)+(4.04437*10^14) 

Input interpretation: 

 
Open code 

 
 
Result: 

 
Scientific notation: 

 
 

The result is:  4.04437 * 1014 
 
Open code 
Input: 

 
Open code 

 
 

  
Exact result: 

 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
Open code 

 
This result 11,8912 is very near to the value of black hole entropy (see Tables) 
 
 
Property: 

 
Continued fraction: 

 Linear form 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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144 * 1/(sqrt8)  ln(404437000433962) 

Input: 

 
Open code 

 
 

  
Exact result: 

 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
 
This result 1712,339 is very near to the mass of f0(1710) candidate glueball 
 
 
Property: 

 
Open code 

 
 
Alternate forms: 

 
Enlarge Data Customize A Plaintext Interactive  

 
 

Continued fraction: 

 Linear form 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representations: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
 

(64+2) /(sqrt8)  ln(404437000433962) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
This value 784,82 is very near to the rest mass of Omega meson  
 
 
Property: 

 
 

Continued fraction: 

 Linear form 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representations: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
 

And 

ψ(q) = (188.923)+(5.76860*10^6)+(3.07735*10^13) =  

        = 3.0773505768788923 × 10^13 

 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result 12,39 is very near to the value of black hole entropy (see Tables) 
 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result 1709,85 is very near to the mass of f0(1710) candidate glueball 
 
 

Continued fraction: 

 Linear form 
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Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This value 780,583 is very near to the rest mass of Omega meson  
 

We have also (pag. 5 paper): 

 

 Thence:  χ(q) =  

(-0.0818490)+(0.0000329662)+(-6.14714*10^-12)+(4.99008*10^-22) 

The result is:  -0.081816033806147139999500992; 

F(q) = (-0.0818490)+(1.08232)+(-2499.28) = -2498.279529 

The result is:  -2498.279529. 
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The sum of all five results, is: 

(-4.9290621621 * 10^6)+(4.04437 * 10^14)+(3.0773505768788923 * 10^13)+(-
0.081816033806147139999500992)+(-2498.279529) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result 16,853 is very near to the value of black hole entropy (see Tables) 
 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result 1719,049 is very near to the mass of f0(1710) candidate glueball 
 
 

Continued fraction: 

 Linear form 
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Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This value 775,257 is practically equal to the rest mass of Charged rho meson  
 

The product of the five results is: 

(-4.9290621621 * 10^6)*(4.04437 * 10^14)*(3.0773505768788923 * 10^13)*(-
0.081816033806147139999500992)*(-2498.279529) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

(55+8)/Pi *  ln (-(-1.253925117438473458100264852971283358888143723063549 
× 10^37)) 
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Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result 1713.01 is very near to the mass of f0(1710) candidate glueball 
 
 

(-(-1.253925117438473458100264852971283358888143723063549 × 10^37))^1/12 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This value 1234,589 is practically equal to the rest mass of Delta baryon 1232±2 

(-(-1.253925117438473458100264852971283358888143723063549 × 10^37))^1/34 

Input interpretation: 

 
Open code 

 
 
Result: 

 More digits 

 
 
This result 12,33461 is very near to the value of black hole entropy (see Tables) 
 
 

1/(sqrt(27)) (1.08643*10^11) / ((-
1.253925117438473458100264852971283358888143723063549 × 10^37)) 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Result very near to the mass of proton 

1/(sqrt(29)) (1.08643*10^19) / ((-
1.253925117438473458100264852971283358888143723063549 × 10^37)) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Result very near to the electric charge of electron 

1/(sqrt(48))  ln (((((-
0.72999480077443047538362776991420567540346048553554829328)/(-
1.253925117438473458100264852971283358888143723063549 × 10^37)))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result -12,35750 is very near to the value of black hole entropy (see Tables) with 
minus sign 
 

139/(sqrt(48))  ln (((((-
0.72999480077443047538362776991420567540346048553554829328)/(-
1.253925117438473458100264852971283358888143723063549 × 10^37)))) 

Input interpretation: 
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Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result -1720.1276 is very near to the mass of f0(1710) candidate glueball with 
minus sign 
 

8 - 139/(sqrt(48))  ln (((((-
0.72999480077443047538362776991420567540346048553554829328)/(-
1.253925117438473458100264852971283358888143723063549 × 10^37)))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result 1728.1276 is very near to the mass of f0(1710) candidate glueball 
 
 

sqrt(37) * (((((169/(sqrt(48))  ln (((((-
0.72999480077443047538362776991420567540346048553554829328)/(-
1.253925117438473458100264852971283358888143723063549 × 10^37)))))))^16 

Input interpretation: 

 
Open code 



174 
 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Comparisons: 

 
 

sqrt(37)/196884 * (((((169/(sqrt(48))  ln (((((-
0.72999480077443047538362776991420567540346048553554829328)/(-
1.253925117438473458100264852971283358888143723063549 × 10^37)))))))^16 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result 4,1382 is a multiple of the mass of hypothetical dark matter particles 
 

2/gamma (7/2) * ln (((((-
0.72999480077443047538362776991420567540346048553554829328)/(-
1.253925117438473458100264852971283358888143723063549 × 10^37)))))))^28 

Input interpretation: 

 
Open code 

 
 

  

  
Result: 

 More digits 
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Comparisons: 

 
 

In conclusion, we have also that: 

1/34  zeta(2)  gamma (2) * ln (((((-
0.72999480077443047538362776991420567540346048553554829328)*(-
1.253925117438473458100264852971283358888143723063549 × 10^37))))))) 

Input interpretation: 

 
Open code 

 
 

  

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result 4,11752 is in the range of the mass of hypothetical dark matter particles 
 

Continued fraction: 

 Linear form 
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((2 zeta(2)  gamma (2))/(1.6220877440446798)^8  (((-0.72999480077443))*((-
1.2539251174384734581 × 10^37))) 

Input interpretation: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
 

This result is practically a multiple of a length of a circle  

((2 zeta(2)  gamma (2))/(1.611349)^8  (((-0.72999480077443))*((-
1.2539251174384734581 × 10^37))) 

Input interpretation: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result can be considered a multiple of a Planck’s constant 

Now, we have: 
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χ(q) = 1+(-1.08185)+(0.00575937)+(-1.41949 × 10^-8) = -0.0760906441949 

       = 1+(-0.0760922)+(2.47992 × 10^-6)+(-3.51705 × 10^-14) =  

       = 0.9239102799199648295  

F(q) = 1+(-14.2995)+(33034.4) = 33021.1005 

 

Note that: 

3Pi  sqrt(33021.1005) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result 1712.64322 is very near to the mass of f0(1710) candidate glueball 
 

Series representations: 

 More 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Continued fraction: 

 Linear form 

 
 

f(q) = (1.075226+12.2180-2135.48) = -2122,186775 

φ(q) = (188.923)+(1.00250 × 10^9)+(1.63161 × 10^20) =  

        = 1.63161000001002500188923 × 10^20 

ψ(q) = (32844.3)+(1.33208 × 10^10)+(9.39267 × 10^17) =  

       = 9.392670133208328443 × 10^17 

The sum of the three functions is: 

(-2122.186775)+(9.392670133208328443 × 10^17)+(1.63161000001002500188923 
× 10^20) = 1.64100267014323330911036225 × 10^20 

The sum of the six functions is: 

(-0.0760906441949 + 0.9239102799199648295 +33021.1005)+(-
2122.186775)+(9.392670133208328443 × 10^17)+(1.63161000001002500188923 × 
10^20) 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 
 

1.641002670143233639329845446357250648295 × 10^20 

We note that this value can be considered a multiple near to the ζ(2) 

This is the total sum, also of the precedent results: 

(1.641002670143233639329845446357250648295 × 10^20) + (-4.9290621621 * 
10^6)+(4.04437 * 10^14)+(3.0773505768788923 * 10^13)+(-
0.081816033806147139999500992)+(-2498.279529) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

 

Total of Mock ϑ-functions (of 5th order) = 

= 1.64100702224824201161384099601918917689500499008 × 10^20 

another value that can be considered a multiple near to the ζ(2) 

Note that from: 

(((1.64100702224824201161384099601918917689500499008 × 
10^20)))^(10/gamma(1.63975513^2*1/5)) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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We obtain a result practically equal to the entropy of cosmic event horizon SCEH = 2.6 
* 10122  k (from: Dark Energy and the Entropy of the Observable Universe   
Charles H. Lineweaver and Chas A. Egan) 

 

From the inverse of the result obtained on pag.126, we obtain the following 
expression: 

-[(1/(-5.74968 * 10^-40)) 
(1.64100702224824201161384099601918917689500499008 × 
10^20)]*1/(1.624*15)^4 

Input interpretation: 

 
Open code 

 
 
Result: 

 More digits 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Comparisons: 

 
 

Total of Mock ϑ-functions (of 7th order) 

-0.08141350042711980591559898323225082017711543245919605 

-1.0061571663060836857869438133877556079608287902166143 
 
0.92434086745859745756753595616700523645194956152836224 
 

-0.08141350042711980591559898323225082017711543245919605 -
1.0061571663060836857869438133877556079608287902166143 -
0.92434086745859745756753595616700523645194956152836224 

Result: 
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Open code 

 

ln -(-
2.01191153419180094927007875278701166458989378420417259*1.64100702224
824201161384099601918917689500499008 × 10^20) 

47.246097233410359177767214822126853043140038647709 

Continued fraction: 

 Linear form 

 
 

Possible closed forms: 

 More 

 
Enlarge Data Customize A Plaintext Interactive  

 

 
  

 

From: 

Three-Dimensional Gravity Reconsidered 
Edward Witten 
School of Natural Sciences, Institute for Advanced Study 
Princeton, New Jersey 08540 

https://arxiv.org/abs/0706.3359v1 
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From H10 we take the sum of coefficients of q and calculate the ln:  

 

ln ((1652836102144 + 112692628289650688 + 630520566901614002176)) 

Input: 
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Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 

Property: 

 
Open code 

 

Alternate forms: 

 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 
Continued fraction: 

 Linear form 

 
 

Alternative representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Open code 

 
 

  

 Integral representations: 

  
 Open code 

  
 

 Enlarge Data Customize A Plaintext Interactive  

  
 Open code 

 

The result is 47.893256 another value of the black hole entropy, very near to the 
47.2460972334... previously calculated 

From the sum of Mock ϑ-function (of 3th and 5th order), we calculate the ln and 
obtain: 

ln (((6.596086158 *10^20)+(-
4267.24)+(1.64100702224824201161384099601918917689500499008 × 10^20))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

value very near to the precedent values of black hole entropy 

Continued fraction: 
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 Linear form 

 
 

Note that: 

36 * (((ln (((6.596086158 *10^20)+(-
4267.24)+(1.64100702224824201161384099601918917689500499008 × 10^20)))))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result 1733.7725 is very near to the mass of f0(1710) candidate glueball 
 

64 * (((ln (((6.596086158 *10^20)+(-
4267.24)+(1.64100702224824201161384099601918917689500499008 × 10^20)))))) 

Input interpretation: 

 
Open code 

 
 

  
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
This value 3082,26 is a good approximation of the rest mass of J/Psi meson 
3096.916±0.011 

 

From the S = 4ℼ √k = 4ℼ √14 = 47,0190534 that is black hole entropy for k = 14. 

As a last and fundamental deepening, let's multiply and add algebraically various 
solutions of the 21 Mock theta functions. We'll have: 

[(1.63161*10^20)(9.39267*10^17)(6.5960861587*10^20)(4.04437000433962*10^1
4)(3.0773505768788923*10^13)(0.923910279+0.924340867458)]/(0.081816+0.076
09+0.0814135+1.006157+1.08185+1.08753+1.0809+4.85773) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

Value very near to the entropy of Relic Gravitons ≈2.3 * 1086 

[(1.63161*10^20)(9.392*10^17)(6.59608*10^20)(4.04437*10^14)(3.07735*10^13)(
4.929*10^6)(33021.10)(2498.27)(2122.18)/(0.081816+0.07609+0.0814135+1.00615
7+1.08185+1.08753+1.0809+4.85773)^2 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

This important and beautifully result is very near to the entropy of SMBHs 
(supermassive Black Hole) ≈ 1.2 * 10103 
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((2.4860339674506047571235568994210729337306033506999466 × 
10^86)*(sqrt(2Pi)) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is very near to the entropy of Dark Matter  ≈6 * 1086 

[(1.63161*10^20)(9.392*10^17)(6.59608*10^20)(4.04437*10^14)(3.07735*10^13)(
4.929*10^6)(33021.10)(2498.27)(2122.18)(4267.24)](1.00583*10^-
12)/(1.006157+0.9239+0.07609+0.08181) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
 

This value is very near to the entropy of stellar BHs (2.5-15 solar mass) ≈ 2.2 * 1096 

[(1.63161*10^20)(9.392*10^17)(6.59608*10^20)(4.04437*10^14)(3.07735*10^13)(
4.929*10^6)(33021.10)(2498.27)(2122.18)(4267.24)( 1/(1.0058343895*10^-
12))*(1.08663428)^48] 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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This result can be considered a good approximation to the value of entropy of Cosmic 
Event Horizon 2.6±0.3 * 10122 
 
[(1.63161*10^20)(9.392*10^17)(6.59608*10^20)(4.04437*10^14)(3.07735*10^13)(
1.08663428)^34] 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

This result is very near to the entropy of Photons 2.03±0.15 * 1088 

[(1.63161*10^20)(9.392*10^17)(6.59608*10^20)(4.04437*10^14)(3.07735*10^13)(
1.08663428)^33] 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

This result is very near to the entropy of Relic Neutrinos 1.93±0.15 * 1088 

sqrt((ln 
((1.63161*10^20)(9.392*10^17)(6.59608*10^20)(4.04437*10^14)(3.07735*10^13)(
4.929*10^6)(33021.10)(2498.27)(2122.18)(4267.24)))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result 15.81810 is very near to the value of black hole entropy (see Tables) 
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Continued fraction: 

 Linear form 

 
Possible closed forms: 

 More 

 
Enlarge Data Customize A Plaintext Interactive  

 

 
 
From the simple multiplication of the previously terms, we obtain:  

 
 

((1.63161*10^20)(9.39267*10^17)(6.596086*10^20)(4.04437*10^14)(3.07735*10^
13)(4.929062*10^6)(33021.10)(2498.27)(2122.18)(4267.24)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 
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(2Pi) * 
(((1.63161*10^20)(9.39267*10^17)(6.596086*10^20)(4.04437*10^14)(3.07735*10^
13)(4.929062*10^6)(33021.10)(2498.27)(2122.18)(4267.24)))*10^13 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

the maximum possible value of Cosmic Event Horizon 

 

Multiplying all 21 values obtained, we have the following final expressions: 

((-1.0058343895*10^-12)*(-5.74968*10^-40)*(-1.08663428)*(-0.081816)*(-
0.07609064)*(0.92391)*(-0.0814135)*(-1.00615716)*(0.9243408))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

(((-2.73682529183279166550919 × 10^-55)*(-
4.92906*10^6)*(4.04437*10^14)*(3.07735*10^13)*(-2498.279)*(33021.10)*(-
2122.186)*(1.63161*10^20)*(9.39267*10^17)*(-4267.24)*(6.596086*10^20))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 
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 More digits 

 
Open code 
 
 

The final result is -1,26792531 * 1054 
 
 

1/8 (ln-(-1.267925315513541562416051980712673446144837786881388 × 10^54)) 
 
Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result 15.5721 is very near to the value of black hole entropy (see Tables) 
 

Continued fraction: 

 Linear form 

 
 

 

Note that (1.2678106049501570296300918814275121667096448751540617 × 
10^54) /(1/0.6449) where 0,6449 is 1-ζ(2) = 1 – 1.6449, give us: 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

((-1.267925315513541562416051980712673446144837786881388 × 10^54))^2 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
 

(1.607634605720113919847654673731700619660517613224198×10^108)/(33021.1
0*1.08663428^16) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

(1.607634605720113919847654673731700619660517613224198×10^108)/(6.59608
*10^20*1.086634^28) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 
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(1.607634605720113919847654673731700619660517613224198×10^108)/(6.59608
*10^20*1.086634^28)*2.61803398) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

(((1.607634605720113919847654673731700619660517613224198×10^108)*(4.044
37*10^14)*1/(2.61803398-0.081816))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

From the previously analyzed 
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we have obtained that 

ψ(q) = (32844.3)+(1.33208 × 10^10)+(9.39267 × 10^17) =  

       = 9.392670133208328443 × 10^17 

From: 
 
Magnetic Monopoles and Dark Matter 
V. V. Burdyuzha 
Astrospace Center, Lebedev Physical Institute, Russian Academy of Sciences, 
Profsoyuznaya ul. 84/32, Moscow, 117997 Russia 
e-mail: burdyuzh@asc.rssi.ru 
Received October 8, 2017; in final form, May 29, 2018 
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In this work we have three fundamental values:   

mg = 2.4 GeV/c2 ;  mg = 9.6 GeV/c2 ;  mg = 0.29 GeV/c2 . 

We observe that utilizing the following 5th order Ramanujan’s Mock Theta function 

ψ(q) =  9.392670133208328443 × 1017, we have obtained some new interesting 
mathematical connections. 

   

Conclusion 

We observe how the results of the proposed equations (based on Ramanujan's 
mathematics) are either transcendental numbers or numbers that can be represented as 
infinite continued fractions. Both sets are an uncountable infinity. This, physically, 
could mean that the supersymmetric vacuum and the Hilbert space contained in it are 
also uncountable infinities. These numbers, therefore, could be identified in the 
infinite information, of which only a part (the one re-elaborated at each cycle of the 
universe, given the increasingly evident cyclical nature of the multiverse) passes into 
the Hilbert fractal space, coming to constitute the infinite frequencies that collapse in 
well-defined physical properties of strings / particles and physical-mathematical 
constants. 

 

Appendix A 

From: 

 
 Monstrous Moonshine and the Entropy of the Smallest Black Hole  
Last Update: 14th September 2008 
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TABLE 1 

 

From: 

Published by Institute of Physics Publishing for SISSA 
Received: September 7, 2007 -Accepted: October 28, 2007 - Published: November 9, 
2007 “Three-dimensional AdS gravity and extremal CFTs at c = 8m” 
Spyros D. Avramis, Alex Kehagias and Constantina Mattheopoulou 

 

 

TABLE 2 

 

From: 

Dark Energy and the Entropy of the Observable Universe 
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Charles H. Lineweaver and Chas A. Egan 

A LARGER ESTIMATE OF THE ENTROPY OF THE UNIVERSE 
CHAS A. EGAN 
Research School of Astronomy and Astrophysics, Australian National University, 
Canberra, Australia 1 
CHARLES H. LINEWEAVER 
Planetary Science Institute, Research School of Astronomy and Astrophysics and 
Research School of Earth Sciences, Australian National University, 
Canberra, Australia 
Received 2009, September 22; accepted 2010, January 11. 

 

 

 

TABLE 3 
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TABLE 4 

 

 

   From: “SQUARE SERIES GENERATING FUNCTION TRANSFORMATIONS” 
   MAXIE D. SCHMIDT - https://arxiv.org/abs/1609.02803v2 
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From the first of (34): 

𝜋ଵ/ସ

Γ ቀ
3
4ቁ

= 1 + න
𝑒ି௧మ/ଶ

√2𝜋
ቈ

4𝑒గ൫𝑒ଶగ − cos൫√2𝜋𝑡൯൯

𝑒ସగ − 2𝑒ଶగ cos൫√2𝜋𝑡൯ + 1
቉

ஶ

଴

𝑑𝑡 

we have: 

Γ ൬
3

4
൰ =

𝜋√2

Γ ቀ
1
4ቁ

=
4,44288293815

3,625609908
= 1,2254167025 

 
𝜋ଵ/ସ

Γ ቀ
3
4ቁ

=
1,3313353638

1,2254167025
= 1,08643481 … 

For the integral, we have calculate as follows: 

integrate [(2.71828^0.89)/(sqrt6.283185307)][4e^3.14159265 * (e^6.283185307 - 
cos((sqrt6.283185307)1.33416))]/[e^12.56637 - 2e^6.283185307 
(cos(sqrt6.283185307)1.33416))+1]x 

Indefinite integral: 
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Plot of the integral: 
 

 
 

Alternate form assuming x is real: 
 

 
 

Thence:  1 + 0.0837798 = 1.0837798 
 

and: 

integrate [(2.71828^0.89)/(sqrt6.283185307)][4e^3.14159265 * (e^6.283185307 - 
cos((sqrt6.283185307)1.33416))]/[e^12.56637 - 2e^6.283185307 
(cos(sqrt6.283185307)1.33416))+1]  x, [0, 1] 

Definite integral: 
 
 

 
 
 
Visual representation of the integral: 
 
 

 
Open code 

 
 
Riemann sums: 
 

 
 
Indefinite integral: 
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Thence:  1 + 0.0837798 = 1.0837798 

With regard the integral, from 0 to 0,58438  for t = 2, where  
(2.71828^2)/(sqrt6.283185307) = 2,94780 for t=2, we have: 

 
integrate  (2.94780)[4e^3.14159265 * (e^6.283185307 - 
cos((sqrt6.283185307)2))]/[e^12.56637 - 2e^6.283185307 
(cos(sqrt6.283185307)2))+1]  x, [0,0.58438] 
 

 

Thence,  1 + 0,0864364 = 1,0864364;          1,08643481 ≅ 1,0864364. 

In conclusion, the value of this, defined by us, "New Ramanujan’s Constant" is 
1.08643.  

In this and others our papers, we have used 1,08643 as a new “Ramanujan’s 
constant” and we can see as this constant is fundamental for some results that we 
have obtained in various equations analyzed and developed. 

 

Remember that, 1729 = 123 + 1 = 1728 + 1,  is also the fundamental number that is in 
the range of the mass of the candidate “glueball” f0(1710): 
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Very important is the following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 

1164,2696 

ቌඨ
113 + 5√505

8
+ ඨ

105 + 5√505

8
ቍ

ଷ

= 1164,269601267364 

For the value 1181,81 we have that: 

 

ඩቌඨ
113 + 5√505

8
+ ඨ

105 + 5√505

8
ቍ

ଷ
భర

= 1,65578 … 

 

 

 

List of Baryons  

Various result are very near or also equal to the rest masses of following baryons: 
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List of Mesons 
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Various result are very near or also equal to the rest masses of following mesons: 

  

From: 

Phenomenological consequences of superuid dark matter with baryon-phonon coupling 
Lasha Berezhiani 
Max-Planck-Institut fur Physik, Fohringer Ring 6, 80805 Munchen, Germany 
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Benoit Famaey 
Universite de Strasbourg, CNRS UMR 7550, Observatoire astronomique de Strasbourg, 
11 rue de l'Universite, F-67000 Strasbourg, France 
Justin Khoury 
Center for Particle Cosmology, Department of Physics and Astronomy, 
University of Pennsylvania, Philadelphia PA 19104, USA 
(Dated: November 17, 2017) 

 

 

From J. Polchinski “String Theory Vol II”: 
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In this paper we have considered the number 16, fundamental in string theory (see 
above reference) and 0,5 i.e. 1/2, also important in Number Theory. Indeed: 



 

 We take n = 16 in the already previously analyzed formula, and developing, we 
obtain: 

                            

 the value -21.79216 (that is the coefficien

Thence q = coefficient * -e-t 

For example:  q5 = ((-e-0.5)* -

With regard 1/2 = 0.5 we remember that: 

“The Riemann hypothesis, asserts that any non
theory of the Riemann zeta function, the set 
critical line.” 

“Apart from the trivial zeros, the Riemann zeta function has no zeros to the right of 
= 1 and to the left of σ = 0
Furthermore, the non-trivial zeros a
1/2 and, according to the Riemann hypothesis

 

 

Ramanujan original last letter

(Ramanujan’s last letter to Hardy, featuring examples of mock modular forms. 

212 

We take n = 16 in the already previously analyzed formula, and developing, we 

 

21.79216 (that is the coefficient).  

 ;   for t = 1/2 = 0.5,  q = (-e-0.5) -21.79216

-21.79216)5 and so on. 

remember that:  

, asserts that any non-trivial zero s has 
theory of the Riemann zeta function, the set {s ∈ ℂ : Re(s) =

Apart from the trivial zeros, the Riemann zeta function has no zeros to the right of 
= 0 (neither can the zeros lie too close to those lines). 

trivial zeros are symmetric about the real axis and the line 
Riemann hypothesis, they all lie on the line

 

Ramanujan original last letter 

manujan’s last letter to Hardy, featuring examples of mock modular forms. 

We take n = 16 in the already previously analyzed formula, and developing, we 

21.79216   for each q. 

has Re(s) = 1/2. In the 
) = 1/2} is called the 

Apart from the trivial zeros, the Riemann zeta function has no zeros to the right of σ 
(neither can the zeros lie too close to those lines). 

re symmetric about the real axis and the line σ = 
, they all lie on the line σ = 1/2.” 

manujan’s last letter to Hardy, featuring examples of mock modular forms. Credit: Ken Ono) 
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Appendix B 

We have also: 

From: 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
 

1/e*[[[-(0.48386078)*-(-4.92906*10^6)-(4.04437*10^14)+(3.07735*10^13)+(-
2498.279)+(33021.10)+(-2122.186)+(1.63161*10^20)-(9.39267*10^17)-(-4267.24)-
(6.596086*10^20)))]]^5 

Input interpretation: 
 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

(16^2-12) * sqrt-(-1.11990 × 10^103) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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[[[-(0.48386078)*-(-4.92906*10^6)-(4.04437*10^14)+(3.07735*10^13)+(-
2498.279)+(33021.10)+(-2122.186)+(1.63161*10^20)-(9.39267*10^17)-(-4267.24)-
(6.596086*10^20)))]]^4 * 4267.24 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

In conclusion: 

(0.08)^2*[[[((-(0.48386078)*-(-4.92906*10^6)-
(4.04437*10^14)+(3.07735*10^13)+(-2498.279)+(33021.10)+(-
2122.186)+(1.63161*10^20)-(9.39267*10^17)-(-4267.24)-(6.596086*10^20)))]]^4 * 
4267.24))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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